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The best method among the following to study the child with
behavioural problems

1. Observation method

2. Case Study method

3. Interview

4. Rating Scale
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Personality Test developed by Murray and Morgan
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1. TAT
2. CAT
3. MMPI
4. CAVD



Forgetting painful experiences by sending them to
unconscious is

1. Repression

2. Regression

3. Compensation
4. Sublimation
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The counselling in which counselor plays a major role than
counslee in solving a problem

1. Directive counselling
2. Eclectic counselling
3 Non — directive counselling

4. Multi — directive counselling
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When the individuals are inspired by accomplishments, then
the motivation is called as

1. Intrinsic Motivation

2. Social Motivation

3. Extrinsic Motivation

4. Achievement Motivation
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Reappearance of conditioned response after
extinction is called

1. Discrimination
2. Generalization
3. Spontaneous Recovery
4. Reinforcement
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A child can go home by the route he knows. But he cannot tell
the way to his home. The child is at this stage

1. Formal operational stage

2. Sensory motor stage

3. Pre - operational stage

4. Concrete - operational stage
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Factors related to learner that affects learning

1. Teaching Methods and previous knowledge
2. Intelligence and learning environment

3. Maturity and Mental Health

4. Emotions and Relation with peers
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10.

As per W.C. Bagley these aspect facilitates persons
development

1. Social Conditions and Genes

2. Educational opportunities & School Facilities
3. Heredity & Learning environment

4. Physical development & School Conditions
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Teacher is asking questions related to the previous class. Here
the teacher is testing this ability of the students.

1. Recalling ability

2. Creative ability

3. Recognition ability

4. Relearning ability
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Minimum number of instructional hours specified for classes
6" to 8" in an academic year as per RTE Act — 2009
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As per this theory, Person who knows typing on type writer
can learn computer easily.

1. Theory of Generalization
2. Theory of Formal discipline
3. Theory of Transposition
4. Theory of Identical Elements
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“Our tendency to perceive incomplete figures as complete”
represents this perceptual principle.

1.
2.
3.
4.

Law of proximity
Law of closure
Figure and ground principal

Law of similarity
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Socially critical situation faced by ‘play-age’ children as per

Erikson

1. Autonomy Vs Doubt
2. Industry Vs Inferiority
3. Initiative Vs Guilt

4. Trust Vs Mistrust
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Sequential order of stages of Language Development.

1.

Sound imitation — Pre language — Babbling — Verbal
Comprehension

Pre language — Babbling — Sound imitation — Verbal
Comprehension

Babbling — Pre language — Sound imitation — Verbal
Comprehension

Babbling — Pre language — Verbal Comprehension —
Sound imitation
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Vinod remembered rainbow colours using the code
VIBGYOR. This memory technique is

1.
2.
3.
4.

Association of ideas
Use of Mnemonics
Over Learning

Paired associate method
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‘Seenu’ studied Hindi in 10" class and Sanskrit as 2™
language in Inter. Hindi is interfering in the recollection of
Sanskrit words in exam. This is called

1.
2.
3.
4.

Retroactive Inhibition
Proactive forgetting
Proactive Inhibition

Retroactive forgetting
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Full form of SALT programme
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Support Andhra’s Learning Transformation
Students Access to Learning and Teaching
Students attitudes on Learning Transformation

Supporting Access to Learning and Teaching
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One of the following is not related to Affective domain

1. Organisation
2. Naturalization
3. Characterization

4. Responding
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Find out the input devices from the following

1. Web camera, Barcode Reader, Joystick

2. Key board, Mouse, Monitor

3. Micro phone, Speaker, Magnetic drums

4, Optical mark Reader, Printer, Touch Screen
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This Teaching phase is helpful to find out whether the

specified learning outcomes are achieved or not

1. Interactive Phase

2. Pre active Phase

3. Post active Phase

4. Classroom active Phase
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Primary School children will be at this stage.
1. Late childhood

2. Early childhood

3. Adolescent age

4. Infancy
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Raju is doing homework in order to avoid the pressure of

mother. Here pressure acts as

1.
2.
3.
4.

Positive Reinforcement
Negative Reinforcement
Positive Punishment

Progressive Punishment
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Reading disability

1. Dysphasia

2. Dysgraphia

3. Dyslexia

4. Dyscalculia
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The method which is useful in reaching the information to
students and clarifying doubts then and there is

1. Tele collaboration
2. Tele processing

3. Tele conferencing
4. Tele cooperation
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The age group covered in school education according
to NEP - 2020

1. 3 to 18 years
2. 5 to 18 years
3. 3 to 14 years
4. 6 to 18 years
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In Deductive Reasoning thinking is from

1. Specific to General

2. General to Specific

3. Simple to Complex

4. Complex to Simple
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Vani is crying like a child outside the exam hall because she
didn’t write the DSC exam properly. The defense Mechanism
here is

1. Identification

2. Projection

3. Regression

4. Sublimation
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Teaching method which will not promote self-learning is
1. Project Method

2. Activity based Method

3. Heuristic Method

4. Lecture Method
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The following is not related to “operations” specified by
Guilford in his model of intellect

1. Evaluation

2. Divergent thinking

3. Relations

4. Cognition
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62.

63.

64.

Identify the grammatically correct sentence.
1. Smith and me went to the mall.

2 Smith and I went to the mall.

3. Me and Smith went to the mall.
4

I and Smith went to the mall.

Identify the correct verb form of the sentence:
“Swetha a pet dog.”

1 have
2. having
3. has
4

arc

Choose the term that refers to the study of election trends:
1. Sociology

2 Psephology

3. Psychology

4 Demography

The following sentence uses a modal verb to indicate

capability: “She speak three languages.”
1. must

2 should

3. can

4 would
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Choose the correctly capitalized part of an address:
1.

2.
3.
4

Identify what the dialogue should reveal in addition to

123 Main Street
123 main street
123 MAIN STREET

123 main Street

advancing the plot:

1.

2.
3.
4

detailed descriptions of the setting
characters’ true feelings or subtext
The author’s perspective on the story

unnecessary background information

Choose the sentence in the simple future tense.

1.
2.
3.
4
Identify the structure of the past perfect continuous tense:
1.

2.
3.
4

She sings in the choir.
They have been waiting for an hour.
He will play soccer tomorrow.

I was learning French.

Subject + was + verb + ing
Subject + had + been + verb + ing
Subject + will + have + past participle

Subject + has + been + verb + ing
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One of the following is NOT an interrogative sentence:

1.

2.
3.
4

Can you help me?
She is a doctor.
Where are you going?

Is it raining?

If she studies hard, she will pass the exam.

Choose the sentence that correctly transforms the complex
sentence above into a compound sentence:

1.

2
3.
4

She will pass the exam if she studies hard.
She studies hard, but she may not pass the exam.
She will pass the exam, and so she studies hard.

She studies hard and therefore she will pass the exam.

Select the example of a noun clause:

1. “I went to the store.”

2. “She asked where I was going.”

3. “He plays the piano.”

4 “They won the game.”

The restaurant is known for its quality food. , the

service is often slow.

Choose the option that fits the blank.

1.

2.
3.
4

For instance
Therefore
Similarly
Yet



Choose the correct sequence of the words in which they occur
in a dictionary.

1. Picnic
1i. Picture
1ii. Picaxe
1v. Picket
1. 1, 11, 1v, 1ii
2. 11, 1, 11, 1v
3. 1, 11, 111, 1V
4. 11, 1v, 1, 11

Choose the correct spelling of the word.
1. Customery
2 Customary
3. Custamary
4 Custemery

The following example correctly uses the definite article to
point out a thing known or already referred to:

1. One night a wolf fell in with a dog.
2 The goat was all skin and bones.

3. A lion is fierce

4 A dog is faithful

the traffic, I would have arrived earlier.
Choose the correct preposition that fits the blank.
1. But for
2 In light of
3. In process of
4 Owing to
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80.

In terms of location and size, it is spread over 40 acres of land
near the iconic India Gate.

Choose the synonym that means ‘spread’.

1.

2
3.
4

reduced
extended
dispersed
gathered

A shrew, weak of eyesight, blunders about the rooms, much to
the amusement of the children.

Choose the antonym of the word ‘amusement’

1.

2.
3.
4

pleasure
delight
enjoyment

boredom

Choose the correct indirect speech for:

He said to him, “Please wait here till I return.”

1.

2.
3.
4

He requested him to wait till he returns.
He requested him to wait here till he returned.
He requested him to wait there till he returned.

He requested him to wait here till he returns

Choose the meaning of the phrasal verb ‘turn down’.

1.

2.
3.
4

to increase the volume of intensity of something
to fold or bend upward
to accelerate or speed up

to refuse or reject something, such as an offer or request
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83.

We have a bowl of sugar in our kitchen.

Identify the sense and meaning of the underlined phrase

1. It is sure that the bowl is empty.

2 It is sure that the bowl is not used to measure sugar.
3. a bowl with sugar in it.

4 a bowl without sugar.

« !' T know you could do it.”

Choose the interjection that shows agreement in the sentence
above:

1. Oops
2. Aha
3. Alas
4 Ew

Read the following passage carefully.

Indian music and dance are as diverse as its culture. Classical
dance forms such as Bharatanatyam and Kathak are known for
their intricate footwork and expressive storytelling. Bollywood
music, blending traditional and contemporary sounds, is
enjoyed worldwide. Folk music and dance, like Bhangra and
Garba, add to the lively tapestry of India’s artistic expression.

Classical dance forms such as Bharatanatyam and Kathak are
known for their

1. Simple movements
2 intricate foot work
3. modern choreography
4

musical instruments
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Read the following passage carefully.

Indian music and dance are as diverse as its culture. Classical
dance forms such as Bharatanatyam and Kathak are known for
their intricate footwork and expressive storytelling. Bollywood
music, blending traditional and contemporary sounds, is
enjoyed worldwide. Folk music and dance, like Bhangra and
Garba, add to the lively tapestry of India’s artistic expression.

Identify the type of music that combines traditional and
contemporary sounds:

1. Bollywood music
2 Classical music

3. Folk music
4

Jazz

Choose the best option that fits the blank.

Language skills are divided into and productive
skills.

1. expressive
2 primary
3. basic
4

receptive

Choose the best option that fits the blank:

is the first stage where students are prepared for the
reading activity.

1. Pre-reading

2. Dictation

3. Scaffolded reading
4

Scanning
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Identify the method that combines the aspects of the Direct
Method and the Translation Method.

1. Oral Approach

2 Bilingual Method

3. Dr. West’s Method

4 Situational Approach

Identify a key aspect of micro-teaching.

1. Large class sizes

2 Immediate feedback

3. Focus on content rather than skills.
4 Extended lesson plans

Choose the correct description of the nature of the English
language

1. English is a homogeneous language.

2. English is static and unchanging .

3. English is dynamic and adopts vocabulary from various
languages.

4. English is used only in the UK and the US.

Choose the best option that fits the blank.

Competencies for understanding spoken English include
understanding words / phrases / sentences in

1. isolation
2 dictionaries
3. textbooks
4

context
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The mean of 6 observations is 6.54 then the sum of all
observations is
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Complementary angle of x° is
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The area of a square is 196cm” then its side is (in cm)

SET(H0 @Y, P50 196 $5.20. W0S TR oo
(0.2 o&°)

1 24
2 16
3. 14
4 13

The number that should be added to % times of % to get % is

i?éo TPOCHEIBd 2§3 4 Bew BORS bozp§§o EORNIODS 260&)5
4 375 o

. 2
3
. 2
5
;. S
15
g, B
60

The radius of the circular plate, whose circumference
is 62.8cm (= 3.14) is (in cm)

62.8 0. S DB Ko ST e Book)y TgLo
(m=3.14) (0.2. ©&°)

l. 10
2. 12
3. 20
4. 100



97.  Identify the correct matching

Number of sides Name of the polygon
a. 8 1. Hexagon

b 7 ii. Heptagon

C. 5 iii.  Octagon

d 6 iv.  Pentagon

DO 235985205 TPA aasoo)gso&

20esee Sogpg 2053020023 D
a. & 1. P Cfo?)z?
b 7 TR
C. 5 1. &9}32;5329
d. 6 iv. 209802

a-iv, b-ii, c-iii, d-i
a-iii, b-ii, ¢-1, d-iv

a-iii, b-ii, c-iv, d-1

b=

a-ii, b-iii, c-1, d-iv

98.  Radius and height of a cylindrical pillar are 7 inches and
8 inches respectively. Then the volume of pillar is

1. 1331 cu.inches

2. 1232 cu.inches

3. 132 cu.inches

4. 56 cu.inches

28 PSS PoFo @Y, TFIIIN, Y SV

7 @00PP00 D8A0 8 ©0X0FTen. ©9OoNS &3 goe;So B0,

DS DOIe30

1. 1331 Do.e20K0%°en
2. 1232 o.00809°0
3. 132 .09
4. 56 D0.90509°en



99. A box contains 20 slips which are marked from 1 to 20. A slip
is drawn without looking into the box. The probability of
getting a prime numbered slip is

1 508 20 S5% Dopgen SOAS 20 e 2.8 2ZS° K09.
286°8 ranow o8 A8 dabudod. HBS DS B vopg
EOASH 3°55e08 6025%556

L 2
5
. L
2
;.0 &
5
4. 2
5

100. 24m 1llcmx 11 =
1. 265m 21cm
2. 241m 11lcm
3. 265m 11cm
4. 264m 21cm

24 1120.20 x 11 =
1. 26525 2100.2
241 110.20
26525 1100.2

L

26425 2120.2



101. The value of (Bx+35)(12x+3) when x=% is

(4x+2)
oot o, BUIID g g
1 10
2. 14
3. 16
4 18

102. The product of coefficient of “x” and coefficient of ¢x * in the
expression —7x* +2x+5 is

~7xX7 4+ 2x+ 5 DA 05700° ¢ X2 KOerES) 508350
X7 0830 og;ﬁao

1. -5
2. -14
3. =35
4. 10

103. Adjacent figure is a parallelogram

then the value of x +y + z is //
X
(@) D030 2.5 DIT08T SSBBIN > -
OIS X + Y+ z Je0S
1. 200°
800 Z
2 180° ?
3. 100°
4 280°



104. If a=-2+3-7+5,b=-7+6—-2+6-1and
c=-—5+6-1then

a=-2+3-T7+5 b==-7+6-2+6—-108a3
c=—=5+6—-1ea03

1. a>b>c
2. b>c>a
3. a>c>b
4. b>a>c

105. Median of 1.25, 1.02, 1.035, 1.21, 1.03, 1.09, 1.06 is
&Sarodo 1.25, 1.02, 1.035, 1.21, 1.03, 1.09, 1.06 &%)

SNBSS0
l. 1.21
2. 1.06
3. 1.035
4, 1.03

106. The population of a city is 10000. It increases at the rate of 5%
p.a. Population of the city after 2 years is

2.8 SKE eaeer 10000. SKS gseeT DK e éosé‘\)o"(%é
5% 90208 2 ROSS\TO SO SKY sver

1. 11025
2. 11000
3. 10500
4. 11500



107.

108.

109.

If the weight of 72 books is 9 kg then the weight of 40 such
book is (in kg)

72 9V 2250 9 &S en. 9enS0ed 40 HIT© I
(85%)

1. 45

2. 55

3. 5

4. 6

{(16x2 ~9y?)+ (4x+ 3y)}><(4x—3y) =
1. (4x—=3y)(4x+3y)

2 (4x+3y)’
3. (4x=3y)’
4 16x” +9y°

(2)""* x (4)""*Y =32 then the value of ‘m’ =
()" x (47" =32 0B ‘m’ DS

0

1

2. 1
3. 2
4 3



110.

111.

112.

. I 2
Ascending order of ——, —— and _2
39 3

—%, —% 308050 —% © e385°5ey (E5050
R S G
37379
) L5 2
3737 9
;0 521
3797 3
g 251
9’ 37 3

Number of diagonals of an equilateral triangle is
2.8 J0erSv (HEzn0 D), ST ?608135
0

1

2. 1
3. 2
4 3

Which of the following are like fractions
80 S° Verd Hyeo

| 5555

' 6’2374

, 6234
55576
2

3, 27194
3’37373

4 1351
2°4°7°3



113.

114.

The sum of the largest 4-digit even number and the
predecessor of the largest 5-digit number is

5-0903® eﬁe‘ia?og 260335 B0, Zgjt’czs‘é)oa)ag O3 4-908®
VTG DOV0PFO S0HE0

1 109999
2. 109998
3. 109997
4 109996

A shopkeeper raised the price of a product by 50% on cost
price. Then the discount he has to give on marked price so as
to get a profit of 20% is

2.8 (OSPRIEE S 28 383 I00 §'FIep 50% Dowe.
98555 20% €0 POTOOES IIOVS S0 TGO

1 20%
2. 30%
3. 25%
4 35%



115.

116.

The following proofs belong to validation process

a. Formal proofs
b. Informal proofs
C. Visualized proofs

d. Logical proofs
308 JETHe0S” ST (HEHH IoBSD

a. D008 ABI®HEILN
b. 290008 JBEITPHEILN
C. CSQ%S QTN 0

d. Q) 8 QETH e300

1. a, b
2. b,d
3. a,b,c
4. b, c,d

One of the following is not related to synthetic method

1. Informative
2. Brief

3. Scientific
4. Time save

208 398° R0ZNEd 2B $020R0BID

1. DST°TI o7 &§o

2. dogRo
3. @Qo%o
4. VD0 e3>



117.

118.

The founder of “Play and Activity institute”

1. John Dewey

2. Froebel
3. Montessori
4, John Holt

“Play and Activity institute” 3;3305)5 B led
L Qg0

FBS

S70e3F)8

W

2 :ngg

One of the following is not included OBB — Maths kit
1. Geo Board

2. Fractions Frame

3. Napier strips

4. Cuisenaire rods
808 JS° OBB X35 DeIEH BosAO

L 838§

2. Do H|go

3. Jnand vgen

4. SrQ¥onE vge



119. “Focusing on the actual level of performance attained after a
certain period of instruction” is called as

1. Evaluation

2. Measurement
3. Assessment
4. Test

“F088 BHAHO FEI YPoS S BOAS IAYSI
TR So|B8BosE0” @38

1. ;SJJ°QJ°§O§<SO

2. STHSO
3. Nlale))
4, OEA

120. “The pupil has to construct knowledge continuously basing on
previously learnt items”. For this, which type of curriculum
organisation is required?

1. Logical method
2. Psychological method
3. Spiral method

4. Topic method

“Kes0S° 36{)?:@ ©OTO SEFON TGY WAN)FOM L

(o] =y
Ao° 830 VS T00E” ITEHS g (HeT°0F JgSFTHS0
29508507

1. @8b§ DEH
[on]
052 E DS
e (o]

NN ‘ég@

W

885 B
o (o]



121. High melting point : filament : : low melting point :

l. Fuse

2. Connecting wires

3. Heating element

4. Switch

OB (SAFSS DotHY : OIS 1t ©) (SIS Do :
1. f.gﬁasg

2. BoFes Ben

3. 3ok 20voeS

4. 5’0035

122. Choose the wrong statement regarding force

Unit of force is newton.
Force changes the shape of body.

1
2
3. Force changes the state of motion.
4 Force is always conserved.

208 2020800 ($08 FAS” VBT TEGE»
1. 2708 (PIT°e0 ?65°§é35_.

200 S VSO SrCYKOLD.

200 FOIVEI STy,

Ll

2)eT°e) Qgﬁa}aéy K)éagéoso.



123.

124.

The incorrect statement about a good fuel is

1.

2.
3.
4.

It is cheap

It burns easily in air at a moderate rate
It leaves behind undesirable substances

It produces large amount of heat

S FOETO A0S HOT T80

1.

L

38 IBowSA.

30 550 Tewd® IS woor 0% S08.
30 9T°0BNAD DETOD IEHenB0d.

30 0¥ I080S° &) &S) Bob.

The correct lightning safety from the following is

1.

2.
3.
4.

Carrying umbrella

Taking shelter under tall trees
Taking shelter in the parks

Sitting inside the closed vehicle

1808 T°AS° Yo 08 LI(GSSH $02050D VBIE

1.
2.
3.

APEIHO0 &IBTR0WEO

FETE SFro ($ol eFano FoEo
I, 08" eFano FosEo
SraHwds Eses” ErEYsto



125.

126.

Incorrect statement among the following

1. Nitrogen does not support burning.

2. Nitrogen and oxygen together make up 99% of air.

3. Plants consume carbon dioxide for respiration.

4. The presence of water vapour in air is important for the

water cycle.
808 FAS® BOS™ %50

L =S DH0EERE BIPaH .
2. S 2805 exdyss sod mOS° 99% oera.

3. Bwyeo aHdah 00 sE)RgesiEm
GTPA0TEI0ET0W.

4. O I ©IB Go&w0, IO BT T S050.

The organism that excrete small amount of urine, dry dung and
do not sweat is

1. Camel

2. Elephant
3. Bear

4. Deer

B0B7AE" EANG0S” SoTgssn , FE D& I9YoT
58050 Bred DG A

1. 2,083

2. DS

3. Qe0K2208d
4. R08



127.

128.

The chemicals used to preserve the food materials are

a) Sodium benzoate b) Sodium bicarbonate
c¢) Sodium meta bisulphite d) Sodium hypochlorite
1. aand b

2. band ¢

3. aandc

4. bandd

5388 DO Jef Bswed IIBFAT SIcT e
a) FESH0 BOS oS b) F&ao B SENIE
0) F&Ao e B HE d) P&asoo TraFEBES
1. a8 b

2. b SH8adw ¢

3. a 08w ¢

4, b So8asw d

Lichen is an example for
1. Saprotroph
Symbiosis
Heterotroph
Autotroph

3R B8 errse

a > »

=of

PORLISPerle]
BHrR550

DEREAS0

Lo

éDSdSoos?ﬁZA%



129. The organ that produces the urochrome is

1. Large Intestine
2. Kidney

3. Liver

4 Skin

ASTEIE DS ) Vs IS0

1. DE DI

2. Sooe|B0E0
3. 58050

4, 756&0

130. The inorganic impurities in sewage water are

(a) herbicide (b) pesticides
(c) metals (d) nitrates

1. aand b

2. bandc

3. candd

4. aandd

S0HHBSD OEI)S $oOTe)

(a) e JoBEzeen (b) DBoK Svochew
(c) S°%Pen (d) J\E3eSew

1. a8 b
2 b 08w ¢
3. c 08w d
4 a08asn d



131. Just as soldiers protect the country from enemies, these people
protect us from diseases.

1. Potters
2. Farmers
3. Sanitation workers

4, Merchants

2D B AP H00& FIEEHHE , A S5
TEO D0d SIS,

1. §3;ﬁ>&d>en

2. Oedoen

3. 3”6&6@55 98&&@0
4, s°§£r’c5wo

132. This place is also known as ‘Andhra Kashmir”

1. Lambasingi
2. Araku

3. Harsly hills
4 Maredumilli

B3 (Fodo ‘solgr 585w DhIFoBS

1. ©023D0R

2. (Dle5sY)

3. 8y i’soe%
4, ;5&8&5333(@%



133. The capital city of ‘Vatsa’ Mahajanapada was

1. Ujjaini

2. Kaushambi
3. Viratnagar
4. Hastinapura

‘;595‘\)’ NSO I TnTo R oxt T

1. &23000Q
2
2 308
3 QOPISKB0
4 TPRVTNBO

134. According to this theory, the planets were formed out of a
cloud of dust and gases associated with the Sun

1. Geocentric Theory

2 The Nebular Hypothesis Theory

3. Heliocentric Theory

4. Continental Drift Theory

Be DEPOBO (5780 MPEHIIS® H0200 &) G SO
TANYOSE’ EFES B0 o0& (Ko JB)grom.

1. 25 So(¢sE drrodo

DD HOELYS DEROSO

w6§§o@5§ ?ocgoéo

L

DOETIOS ?ocgoéo



135.

136.

Find out the odd one of the tributaries of the River Krishna

1.
2.
3.
4.

Bhima
Gayatri
Wardha

Koyana

EILIB EISDHOE 5020000 HIom &J) T KH8oB0sk.

1.

WD

ARY
oL@
°0O°

Q

8§

The ‘Right to Livelihood as a part of the Right to Life’ was
established by this Supreme court’s judgement

1.
2.
3.
4.

Olga Tellis Vs Bombay Municipal Corporation
Delhi Administration Vs Lakshmana Kumar Case
Kesavananda Bharathi Case

Shah Bano Case

RIS 0BT, BI0T W) 'S 2.8 arKo ©d HEYY)
RoP08°L X

1.

L

S BYT Vs 0B 500 5285NBRS S
&9 BabeRo Vs oxyer 0378 S
SHIS0LTEA T

LerS® T



137.

138.

The reign of the Rudramadevi was
l. 1195 -1199 AD

2. 1199 — 1262 AD

3. 1262 — 1289 AD

4. 1289 — 1323 AD

BHERY DBIOI® SPOS0

L &¥1195 - 1199
§.¥ 1199 - 1262
&.¥ 1262 - 1289

e N

\&.¥ 1289 - 1323

“Creative learning could be encouraged only within a natural
environment” is the opinion of

1. Mahatma Gandhi

2. Arabindo Ghosh

3. Dayanand Saraswathi

4. Rabindranath Tagore

O TEPSEE0 STEDH DT EYE @aigoan) (FE)Irrod”
CNEANITANENob

L Saymrod

A TR RRY

$A53°S5083 266603@

L

EAO\ETE T°KrE



139.

140.

The day on which ‘the Lion Capital’ was officially adopted as
our National Emblem was

1. January 20, 1950

2. January 26, 1950

3. January 24, 1950

4. January 22, 1950

S 2BAH DI ‘Tl OO KLY edsasoN
500D 8

1. 8338 20, 1950
2 8338 26, 1950
3. B33 24, 1950
4 8338 22, 1950

Nam — Ghars, for people of all castes to meet for religious and
Social purposes, were founded by

1. Shankara deva
2. Chaitanya Mahaprabhu
3. Namdev

4. Guru Nanak
O, BB 8 SIS 80 o) Sovo (Hwen
DIFIEHITAS ‘T8 0 (FEoHONS T

1L Y055 B9

2. PS5 S
3. O3S
4, hSteSEuN



141.

142.

The first country to establish the world’s first solar and wind
powered bus shelter is

1. France
2. Portugal
3. Chile

4. Scotland

(H90508°S Inoey 53 B FY, B35 ¥ &P@TR0D
2:) Q5™ Aoy TS B¥o

L @)

2. FKS
3. 29

4. évzrég';og

Identify the correct statements associated with Indus valley
civilization.

a. Hunting and Food Gathering were the main occupations
b. They rear Cattle, Goats, Pigs, Horses, Dogs and Donkeys
C. They grew cotton for the first time

d. They traded through the port Lothal in the Arabian sea
0TS ADH THOESDH HBoWORON VETS BOoTOD KYood.

2. D6 HBA e DETe 5500 T (HETS S)Byen

b, DHHe, DFen, Howen, KH(oPe), HE e HBADD
ESOS DH DoBTSDH

c. DY Toogy Jocse D0GODIH AT

d.  &BDAT H30ESD S’ FeFoHo Toe A
FFPEO WOT .

1. a,c,d
2. b, c,d
3. a,b,c
4. a,b,c,d



143.

144,

The year in which the Indian Parliament adopted the Right to
Children to Free and Compulsory Education Act was

2O &S 5062306‘5 G ST wdé@vgﬁaoﬁ
(ZINVLIATOTAN bozseﬁ“)do

1

2.
3.
4

2008
2009
2010
2011

The following one is not a part of State Executive

1.
2.
3.
4.

Governor
Speaker
Chief Minister

Council of minister

808 70" g SUROTTETRE” arro ST

1.
2.
3.

K35
)56
;5333353530@
S00|B300Ed



145. “Science is not merely the accumulation of knowledge, but the
repeated ordering of that knowledge” is said by

1. Fedrik Fridge

2. Plato
3. Prof. Armstrong
4 A.P.J. Abdul Kalam

Qe (0 B350 ) POLHIDBIED KO HB DB
&5 BT (G0AEBRR0B ” & I57) 3058

1L 085§

2.

3. 08 @5&@;05
4 APJ. w28 Sor

146. “How many sense organs are there? What are they?”
This question comes under

1. Short answer question

2. Fill in the blanks question

3. Match the following question
4. Essay question

“TRoBATe0 AY? @Y I?” B (HY B TS JoHIB.
=y

L odo BSreesS (99

PON{efac @%Q)

BEDSI (DY

L

s"ag:@ 8D Q.Sr:{)



147.

148.

“ A long interrelated subject matter is unit” — stated by

l. Prespon
2. Bossing
3. Thurber
4. Collette

£

“DED) B020EI0Y) DAY DFH IAATY) SHrAS
oD [N ]
©0erd.” 8l OISO

L @9
2. 50K
3. 856
4. §Bg

An evaluation that tests all aspects that the student has learned
through the teaching learning process is known as

1. Formative Assessment
2. Inductive Assessment
3. Summative Assessment
4. Deductive Assessment

Y F BTGOS0 IO JEL)HY) 0o w0
26§03 Srergosiso

1. K)G°&€§°e§ &§ m@§o§5o
e3530°es &§ ;535°e7°§o§:60

QOITeT B8 Soe°§0ES0

L

QRS J°es &§ ;535°e7°§o§5o



149. The total learning principles suggested by Andhra Pradesh
Primary Education Programme (APPEP) are

SOGHBT (FPEWE Iorg 90 (APPEP) 55DodS I0do
LRSS S Y

~N N »n s

1
2.
3.
4
150. The government structure and management system can be

effectively displayed through this chart

1. Stream chart

2. Family Tree chart

3. Organizational chart

4. Process chart

(DS Aoeyed (EITY), es TR Bs T°§ THO° S8 77
(5¢58)0us 5259

L Qoo

2. So¥ S G
3. SSLED o§
4. oS G



